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<P) The Tree Without Roots

4) The Rootless Tree
97) The Tree Without Root
7) Tree Without Roots
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RU A Unit English Solution
S\ | Which expression‘is eorrect?

<P) ten cattles
) one cattle
97) ten head of cattle

¥) ten heads of cattle

www.bdniyog.com

41 They elected him chairman. Its passive form is:
<P) He was elected chairman (by them).

4) Chairman was elected by them.

%) Chairman was elected him by them.

7) By them was he elected chairman.


https://newresultbd.com/

bl So | Choose the correct sentence:

<P) The boy was too clever not to miss the point
4) The boy was so clever to miss the point.

91) The boy was too clever to miss the point.

¥) The boy was clever enough to miss the point.

Yol Adecade ___ since the discovery of leprosy vaccine. The right option for the gap is:
<P) passed

4) has passed

91) have passed

¥) had passed

0| From your point of view, which sentence is incorrect?
<) | am taking the admission test.
4) | am giving the admission test.
97) I am sitting the admission test.

¥) | am sitting for the admission test.

Y| Salam is late for office on most days. In other Words, he is ____ late for office.
<) almost

) frequently

91) occasionally

¥) seldom

www.bdniyog.com

| Who is a netizen?

<P) one who uses the internet

4) a bad citizen



91) one who is not a citizen of a country

¥) a citizen of Nottingham

29| We are looking forward to ___ soon. The right expression for the gap is:
<P) meet you

¥) meeting you

) have meeting you

¥) be meeting you

8| He is an innovative teacher. Here ‘innovative’ means:

<P) traditional

) old
1) dull

¥) creative

¢ | He went mad. This verb is:
<P) transitive

) intransitive

) linking

¥) stative

QWY | He said, “where are my glasses?” Its indirect form is:
<P) He asked where are my glasses.

4) He asked where were his glasses.

91) He asked where his glasses were.

¥) He asked where his glasses had been.
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24| Which one is the correct spelling?
<) acomodation

¥) accomodation

91) acommodation

) accommodation
www.bdniyog.com

*b’| The beggar in front of the gate looked very hungry.

Functionally, the underlined phrase is a/an:

<P) adverbial phrase

) adjective phrase

) noun phrase

¥) prepositional phrase

> | The boy is good _ mathematics.-The appropriate preposition is:
<) of

¥) for

M) at

) on

www.bdniyog.com

vo| The adjective form of confidence’ is:
<P) confidential

) confidencial

97) confident

¥) confidant
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YW | There has been a breakthrough in the treatment of dengue. Here ‘breakthrough’ is
a/an:

<P) adjective
) verb

1) noun

¥) adverb

54l The danger is __ <. The right word in the gap is:

<P) eminence
4) eminent
%) prominent
¥) imminent

181 He told the story . The right option is:

<P) in a nutshell
) in a shell nut
9Y) for a nutshell
¥) in a bullshit

yo| The correct translation of “(NTIG (MY OIF JNITIT NOIC:: 17 is:

<P) The girl takes after her mother.
4) The girl resembles to her mother.
) The girl is similar to her mother.
¥) The mother resembles the girl.
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20| The antonym of ‘supernatural’ is:

<P) genuine
) fake

) false
¥) ordinary

[supernatural &9 antonym- genuine &<X ordinary 1;?!.'31’3L TS AT
51 The phrase ‘few and far between’ means:

<P) not frequent
) long distance
) irregular

¥) unreachable

3| The adjective ‘savoury’ is connected with:

<P) colour
q) dress
) iiloney
¥) food

29| If you write about your father’s life, you are writing:

<P) a diary

4) an autobiography
91) a biography

¥) a chronicle

8| Carbon and oxygen ___ carbon dioxide. The missing word is:

<P) compose

4) composed of

9Y) are composed of
¥) is composed of

¢ | agood student, he failed in the exam. The missing expression is:

<P) Despite being

4) Despite of being
M) In spite of

¥) Despite the fact of

WY | Which one is the correct sentence?

<) We look forward to hear from you.
4) We look forward hearing from you.



91) We look forward to hearing from you.
) We look forward hear from you.

24| Let me do the work. Its passive form is:

<P) Let the work be done me.
) Let the work be done.

%) Let me be done the work.
¥) Let the work be done by me.

Y| His commerits provoked a barrage of criticism. Here ‘a barrage’ means:

<P) a storm
¥) a violence

) a lot
¥) a hatred

> | We live upstairs. Here ‘upstairs’ is a/an:

<®) noun

) pronoun
) adjective
¥) adverb

5| It's a mystery where he works. The underlined clause is a/an:

<P) noun clause

) adjective clause
91) adverbial clause
¥) principal clause
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3% | Define gerund and use it in a sentence.

Ans: A verbal is formed using a verb, but it functions as a different part of speech in the
sentence. Gerunds function as nouns in the sentence. Typically, a gerund is used as a “thing”
or an “idea,” and gerunds always end in “ing”. ... Examples of gerunds or gerund phrases
used as the subject: Singing is one of my hobbies.

5| What are the four basic language skills?

The Four Basic Language Skills:

1. Listening: When people are learning a new language they first hear it spoken.
2. Speaking: Eventually, they try to repeat what they hear.

3. Reading: Later, they see the spoken language depicted symbolically in print.
4. Writing: Finally, they reproduce these symbols on paper.

9| Translate into English: (ST« T 3@ ROIo O (e SN (NP (FOry 7|



Ans: If it rained that day, we would not go to Picnic.

581 Use the verb ‘open’ as transitive and intransitive in separate sentences.
Transitive: Salam opened the book.

Intransitive: The door opened automatically.

3¢ | Who is Shakespeare?

Ans: William Shakespeare was an English poet, playwright, and actor, widely regarded as
the greatest writer in the English language and the world’s greatest dramatist. He is often
called England’s national poet and the “Bard of Avon”.

YW | Change the narration: He said to me, “Do you know where she went last Sunday?”
Ans: He asked me if | knew where she had gone last Sunday.

41 Quote the first two lines of the poem “| have Seen Bengal’s Face”.

| have seen Bengal’s face, that is why | do not seek

Beauty of the earth any more: | wake up in the dark

S| State the difference between ‘many’ and ‘much’.

Ans: Many is countable determiner and much is uncountable determiner.

Y| We can go to the party if your sister gets ready on time. Identify the clauses in this
sentence.

Principal Clause: We can go to the party
Sub ordinate Clause: if'your sister gets ready on time ( Adverbial Clause)
0| What is a metaphor?

Ans: A figure of speech in which a word or phrase is applied to an object or action to which it
is not literally applicable. A metaphor is a figure of speech that, for rhetorical effect, directly
refers to one thing by mentioning another. It may provide clarity or identify hidden similarities
between two ideas. Metaphors are often compared to other types of figurative language, such
as antithesis, hyperbole, metonymy and simile.

RU A Unit Group 2 SAQ or Written Question Solution
AT IF (T) TS AT 2059-2020

A ROG (Group-2) Short Answer Questions (SAQ)
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351 What do you understand by.the term ‘Diaspora’?

| Nobody is free from error. Make it affirmative.

9| Make a sentence on the following structure: subject+verb+object+objective
complement.

381 Transform the word 'emphasis’ into a verb and make a sentence with that verb.
¢ Use “why you are late” as an adjective clause in a sentence.

YWY | have done well in the exam. Rewrite the sentence using the antonym of ‘well’.
%41 What is a linking Verb?

b’ What is the difference between a transitive and an intransitive verb?

Yo | What was Tereshkova'’s contribution to Russian politics?

0| Translate into Bangla: Grasp all lose all.
www.bdniyog.com
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A5 22 7 ©fS I 209%-20
- JIVGT #1047 (CH6-1)
Y. ATTIN-IT FIRHF T (FIA0?
() Rt
() et
QWELIN
() afser
R. He refrained himself __ the meeting.
() from
() off
(1) of

(}) on
9. Albert Einstein (PIATT G A YRV PCIN?

(F) RC.(.

(4) BS.1.4.

(51) Gt

(<) AR

8. FEIGOIET STFO(F A F(F(S TSI [GOr23 (FG?
() A0

(}) @

(°n) NOX

() I6

¢&. G (GGT (BRI (I R 51w =32
() One to one

(¥) One to many

(°1) Many to one



(¥) Many to many

Y. R FCHAS FOF (FING?
() A

(¥) AT SIS AS I
(1) GG & [fY g

() &I FAN WA

q. (PG FICSTI SN JF?
() @

() g9~

(5) STNOIT

() 9af

b’. Are you hungry? No, not at all.

(Choose the correct answer to replace the underlined phrase)

(P) surely

(%) in the least

(Y) too much

() any way

». ATFCIFI IS (AT G (06T GBI FLAN IATATR (FI [[FsaT12
() 9264, QRN

(¥) 4%6. 4¥. (9IfzR

(1) .. OI&F

(%) .V, AT

0. He appeared at the examination but failed.
(Transform into complex sentence)

(P) Though he appeared at the examination but failed.
(¥) He was appeared at the examination but failed.

(%)) Having he appeared at the examination but failed.



(¥) Being he appeared at the examination but failed.

9. (N STFMB AR 2T S STHNFTS?
(&) oIC

() MIGA

(N IPCC

() WMO

92, (FIE & TS = (FIEAMS- A6 (P LFR STCA SHIRIT?
@) TNLF 79

(¥) I2l 79

(1) R 7%

(¥) NP 7

9. IFGA ZA INF (FIF (Gl FA(Z 02
(P) VI

() FETNNIRIC

(") Ao

() HBMG

8. THLIMIIL G AT AP F Je0 =32

() Encoding

(¥) Debugging

(%) Decoding

(¥) Correction

3¢&. Their house is opposite the Red Crescent Hospital. Here ‘opposite is used as a/an
() preposition

(¥) adjective

(°)) noun

(¥) adverb

. (T ANTH FE, (572 54 TS I~ A6 (FIN YR AF5?



(F) (TS

(4) GifGet

(5T) ST

QREISIER!

4. You will see on the map that the public auditorium ___ north of the lake.
(P) lies

(¥) lays

(?Y) lain

(¥) laid.

Sb. Please __ your dog.

() stop

(¥) restrain

() prevent

(¥) subdue

. A I BIRIOT YT (FIH ARG I TMR?

(®) /S

R0, AP (PN (MTHNT MCTI™AT ALFT?

(P) QAN

(%) 2

(90) ZTIRET

(@) =

QY. ‘U (ICO AT | UM (0O AN (P (@K SHIRFT?
) = fa=n

() (5P fan



(o) STRIfreT e

Q) AMCOP fap

2R, BTN BACSI THIRR (P62
) 2fS

(}) B,

QRN

(}) 1

29, DNS-AJ @ 52

(®) Domain Name Server

(¥) Domain Number System

(°) Domain Name System

(¥) Domain Number Server

28. WIG fHF (FIAT WAFS?
) g

() TR

(o0 T =TT

(%) Al

2¢. IR *HAO (FN O (AF ATIR?
@) F

() AR

(N Y

@ 2™

Y. He said that he (go) home the next day. (Use the right form of verb)
(?) will go

(¥) goes

(°) has go
(¥) would go



4. (BIG (AT ToT® I =2

@) ST

() Sifere

QEIRIES

(W) SifeTPN 8 AT=126

*b. We __ hire arickshaw. It's already too late.
(P) mad to

(¥) would rather

(°7) had better

(¥) had though

2. N INTET (F (FOT ABGE?
() BCD

() ASCI|

(57) UNICODE

() EBCDIC

vo. ‘“NIT- I AFS & ASTH (FIN(6?
&) ]

(%) 3

(51) AR+

®) "jf\Ql%Hﬂa

0%, JILETH RN TLCIT FINAZAIR (FIA?
(F) DTS

() ISR

QRIS

QEREGISa

03, Yo e Gt Wb FHfo~
@) » o



08, TRGAT *H Y 57

(F) BTN

() ¥R

(51) IS

(@) T

0 ¢, (PN (MO IR AL BN SAEPIR 1S B2
(F) 20.(.

() N8

(o) GRS

() 12

oW, P-4 AT [on (FEI0?

@) P+

(%) 3+fB

QESRD

@) JT+S

V4. The antonym of the word ‘Destroy’ is
(P) Repair

(¥) Construct

(1) Build



(d) Make

Vb, (P IN26A (S YRAT AHTGSANI ST IS A2
() ST

() (ONE

(5Y) P ([T (FENHE0

() TS
0. (PG RDBMS wI?

() Oracle

(}) MySQL

(%) Visual FoxPro

(¥) Java

80. He said to me, “Let me come in”. (Transform into indirect speech)
() He told me that he may come in.

(¥) He told me that he might. be allowed to come in.
(%) He told me that he is allowed to come in.

(¥) He told me that he may be allowed to come in.
8y, AT 2w KRy (P62

() TG R

(%) HCPNG RYRTET

(o) T SGRI fPafmmers

(X)) TN ﬁ"ﬁﬁ"ﬂm

8. Be seated please. (Transform into passive voice)
(P) Let please be seated.

(¥) Please be seated.

() Let be seated please.

(¥) You are told to be seating.

89. HTML-4T (N7 Bl Fol6?



) 8f5

@) vo

1) 52f5

@ S5

88. W-FIIL I[N W-FIEL 2T N-FIF AP G (e [ 2772
() d-PIK

(V) 8-

() &-FR

(}) P-FR

8¢. When | asked him ____ the keys, Bob said he"had no idea where they were.
(P) if did he see

(¥) if he had seen

(°Y) could he see

(¥) that he had seen

8Y. ‘PG MQfer FI o2
() (RN AT BTN

(4) IR BN
QIEICRIGERR]

(K) SIeTOTNT <PIaTe

84. Choose the correct sentence.
() Rahim ate almost the whole fish.
(¥) Rahim almost ate the whole fish.
(%)) Almost Rahim ate the whole fish.
(¥) Rahim ate the whole fish almost.
8b. TR (MF 8 oF F©?

@) u.oe B 8 sv.vo

() v.2¢ [F.M. 8 Y20 .
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(o7 a.5¢ .. 8 20.50 .
(@) a.5¢ B 8 sv.20
8%. JFTPT (GOIATSR AN WSS (HIG?
) Frg
() GF6
(5T) (B3
@) =X
60. His patience is running out. Here ‘running out means
(P) ignore
(¥) falling down

(9Y) fall into

(¥) becoming exhausted

&S, 2N 1255 g1 {FH 6. 39 S WHo® 27?2
CORLER

(4) 5%a¢

(M) Yab¢

(®) %89

€2, (N AfGPICP ‘Leader of the Opinion’ I&AT TT?
(P) The London Times

(¥{) The New York Times

(%)) The Herald Tribune

(¥) The Times of India

@O, AN (ATF GANG 02’ BIIACI AIEETH

() * T AL

(50) SR STFI (BT

(®) NG RATTAN



@8, (PO ATRICG 112

() VRGP THIRG

() T

(o) FRA-TIR-THRG

(}) AT

¢ ¢. BN -*AT MY (FHOP JIT?
() A

(X) PO

QR

() ke

&\Y. Use appropriate relative pronoun to add the following sentences.

The man is a famous doctor. | met him.in.the bus.
() which

(¥) whom

(%) whose

() who

¢, SFFAR Tt o F2

() T

() BT

(N *rgAe

() ©T6

@b, (FINID SR A1 72 RO RAH F1 =7 F12
() STI&K

(%) ST

(1) ettt

(®) *efn
&, (NG 5?2



@) 5 (PR=Y038 AREA
(q) 5 dNR=208 ARG
(57) S qNf{=y000 fFEA-IRGA
() 5 (PlRI=528 A26A
WYo. Integer type data-P© CTNICo T 7Ye FE?
() 2 A6
(¥) S ARG
(57) R ARG
(<) 8 I26A
www.bdniyog.com
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200- { (RGT1 30100 SyEm 8 ™R 7 )
R 2 ¥ SfS HIHT 200%-20
ISy =0T ((376-2)

Y. STQIRT AT FATNCP A AN e~z 41, [FF TS W =2 G 1 a1
e ©f (T WS =@

() TBNSST

() TNl

(1) TP

QRREIEEICN)

2. (FING IR: (ENHNT GATRAT 2
(F) FAGIAT (FO oW

(%) TPRATTD T

(57) TFRATTG I ST

QO ERMENISACILIR]

9. Dynamic WebpagemW’iﬂ
(F) C, C++
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(¥) HTML, CSS
(1) Java, Python
(Y) Perl, Asp.net

8. STV W@ YATHIF F© A6 NI SHIN ORI bl BRI ST O
TIA? (F) %

(X) ©%
(57) 0%

) 3¢%
¢. G5 FR-GAMN g WA fNEF (FHD (AFNLAS SN N2
(F) STPety

() TIPS

QEIEEAEEIR R

() IFA0

Y. T© (A1 AR TR G TGP ABH el =

(@) JIRAIA A8

(V) T© AN 180

(1) N 8T

() “TEFIRA/T B AT

q. g1 (RF7Ie) BN TR (G2

() TIHT ¥E AR

(¥) A1y FRA

(o) RzFx i

() &Y (o IR

b, GFTTT (GO 2K WIS (6?2

) s

(3) @F6

(51) BT




@) =

5. M YL ISP YA Gy IF RO @77 FA1 =, O (S0 AT Gl
2?2

(F) INRF TIS

(X) (rmIg

(51) SR

(<) N et

0. 2-JIfFe (MAF FOTOI ARFTIT AT FIH-
@) b

() 52

(3N Y

) 28

9. (R STZI 7 I-/M NGt AW ¢o0 BIFl, N1 R (GG 41 =0T A6 =R
() TR G

(}) M AOTS et

(o) fSor G

@) (FNGR

2. IFRS 2AHI 51N (FINIo?
() FASB

(4) AICPA

(57) IASB

@) (FNH2 NT

Y9, NAF ARSIV (O G0 (FIN6 YT RO TS AT X2
(@) ([T

(%) ST Wi

(5T) THPLY LA

@) FrNg



8. TG0 & FEGIEN WIEN SIT! IR GG FNHA (I ST
(F) 98 IR

(¥) 5¢ RS

(o0 Sb IR

(H) 4 9=d

¢&. He speaks as though he (know) everything. Use the right form of verb.
(P) knows

(¥) has knew

(1) knew

(¥) known

M. AFSHITHI BT FAITTF AT HCHH

() I A=

QEDIMEEILE

(o) S AT

@) TN ARSI

Y®. The synonym of the word ‘Suffer’ is

(P) Sickness

(¥) Displeased

(°1) Undergo

(¥) Disappointed

b, TS Y B AT 5T FANIC-F Gy TIT AFSDNSA (I YA I
SR FICGT AT (G FACR?

() WNGE A5 I

(¥) A2 T

(oT) ETIRMG

(<) (BT GG T

Y. (NOUgd (IR N (62



() ST AfGea

() WS Af=

(51) WA Af =

(%) netsre A

0. AHOY AN

(P) Cycle/ITPY

() Bitl TS

(5Y) Bit/Nf<G

(¥) Frequency ST

:). Find out the antonym of ‘Garrulous’.
(P) Pleasant fragrance

(¥) Loud noise

(1) A person who speaks less

(¥) Stable condition

3. GG SBIGE ASCI (ISR B T4 02
()R

R v

QN

(q) 50

R, ONAIRCN T3 AT PP el Y
() TNAIRN (ATNG HEN

(¥) RAFHF (T o

(o0 FIereT

(F) 2BIRCAG (TG 6N

28. NI AMNS = JF0

@) TIPS

(¥) FINSHT® AfoDI




() I ™

(M) 17

R¢. Itis very hot inside the room.| __ go to open space.
(P) have to

(¥) as soon as

(°Y) would rather

(Y) had better

Y. Mr. Bashir is not happy; Mr. Rashid is not happy .

() too
(¥) with
() either

(¥) yet
24, (RUNIHT TLAYT FIZIRI P2

() A *TAF5Y
() AT GUNY
(1) JC*1 *TTH1Y
() TSNS N[BTV

Y. Choose the correct sentence.

() One of my friends are a lawyer.

(¥) One of my friends is a lawyer.

(%)) One of my friend is a lawyer.

(¥) One of my friends are lawyer.

2. SRITF BN TNV F N a2
() g orafs

(%) D ST7E 8 ST

(9) WNRF QNIA

(@) Prarg =z
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V0. (FI AR RARBICTT (10T I F1 22
() SN (T ST

() SNTEr e

(%) 3eTN

03, B AN STCELN KGO N SATAIN ==
@) G

(¥) AN

(N IS

() TFS

02, fABM T WHINF ST AT BT 2T
(P) AN

(}) e

QIEICERES

QISECS

V. What is your new jobike? Here ‘like’ is a/an
() verb

(¥) preposition
(Y) adjective

(¥) adverb

08, (FN6 BARBLE FRF 41972
@) fRordte mfgen

() ST (e

(51) e e

() @S

¢, TN ey AT AGIE JCNF N RO Y07 NGH YT RARRGINS (T N
PO -



() STNETTST

() TFRTO!

QEBREEN

) (P62 N

Y, (FINI6 NI AT N2

(F) WA Ol AR (GG, Ol R3] (@oh

() VoW R (GRIB, AAGre (@GS RAR (o6
(o) ST 2719 (GG, 2T ST7 fR79 (G0

(@) ©rel 2317 (G5, WA ©rer 25117 (Fos

©q. Honesty is a noble virtue. The man __ possesses this uncommon quality is the
happiest man in the world.

(P) who
(¥) whom
(1) whose
(¥) which

. [TERT® NN I H,€0,000 BIHT, HHHINP @ [TPT U6 IATERCN 20,000 BIFI 8
80,000 BIFT| NG YA FRFTIT 2¢% | NG YATH TS GIFI?

() 90,000 GBI

(4) €0,000. Bl

(57) 40,000 BIFI

QISIRICEEE

O, ST ST YIS (T 4HCEF I G AT |

() AP WIeTFT IS

() SN

(9) SRAAIR PRI

(}) AT

8o. fNIoTal AT Iz AT TN



() T A 8 [epy i A

(¥) G5 A [RFTAET 2 AT

Q) R EECERIGEINE [Eka |

() 21T I Iz

85. SQL U9 "1“1’7«""1 ReTC:: Structured _ Language.
() Question

(}) Query

(%) Quotient

(9) Quiet

8. ‘Every loan creates a deposit’ troll pit?
() Professor Shaw

(¥) Crowther Richard

(1) Canton de Cock

(¥) Harty Wither

89, (FOF (FH6 GHIG = 12
@) GG AT & WARAG

() R o

QIR GRALIR

(%) > 2A1fS

88. (FIL OF?

(F) JATHI YT ARION I

(%) ATRPT YN JPT B

(5Y) AL (PTG YT RO A
(<) YA YALNCS Jan P

8¢. There are __ passengers in the compartment today.
@) little

(¥) less




(7)) least
(¥) fewer

8\. Please ___ your dog.

(P) stop

(¥) restrain

(%) prevent

(¥) subdue

84. Plural of stimulus is

() stimuli

(¥) stimuluses

(7Y) stimilie

(¥) stimulies

8b’. Choose the analogous pair.
(7) Refurbish: Worn

(¥) Replace : Stolen

(%) Revive : Exhausted

(¥) Reward : Outstanding

8%. NG O + ATIGIETN I = 2
) Ao g ™

(¥) REPI AR

(o0 G faw

(<) WIT:B AT

¢o. IG (OINfETF TR BFTT Y2 I ©OI & A JFM GG [ LF0N (FHTH
NTG?

&) WAN
(4) SAN
(5T) CAN



() HAN
&S. (NG FTOOI ©I2AT?

() PHP
(}) SQL

(51) CIH

(¥) Blue Ray

¢=2. NSF (53 Q11 0¥

() (6 STNANON: GHFH® w1 28

() (6TFS BRI AR T & FA NG
(1) iSO 2 Torgfore 6%

(@) R ZAR 21 Il 1 1<

¢, PSSP HALTHNT CBIRP (F?

(F) =R (FeT

() FAH 8T

(5) 9. O F. (634

@) T= (eI

¢8. 25T ST oSN IR
&) IO

(%) ATSNMIG

(on) RfS=Co st

() QI

¢t STe 515 TS 36 A2
(@) STNEHT B

(¥) IOGH VR
QEDIERRL
QERIGERE

&, (TG T AfFwgar?



(P) A=A

(¥) AT

(o) ATGB

(%) Al

¢4. ACHE AV ATV (N ISR Y Goo?
(@) AN

() ST515

(o1 T

@) g

¢br. ARFGNR FIAREA T (FHG?

@) S fNeier

() STL51O Coar

(5T) ARFHN AV

(q) ARPFNR D7 FIo

&%. “1SO 14000" NG PG M B FE?
@) 205

%) 86

(on o 6

@) ¢ o

Yo, BNGOIE F3 Key K PG
() Refresh

(¥) Find

(°1) Help
(¥) Save
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BURNIRIN
SNY: 8o NG
fATER 2r@fel Ted W18 1 NH: 8o
AT oTwg 773-2

2@

Y) Change the following simple sentence into complex one.

The boy in yellow shirt is my brother.

*) Convert the following simple sentence into a compound sentence.
Besides being rude, he was also arrogant.

\9) Correct the following sentence.

He succeeds at winning the prize.

8) He died of fever. (Transform into passive voice).

JIAT LS & TIIBIANT
&) FIACIF ARTP AR HFAR FIA1?

W) THFNOT AJMTIE AP 200 (Torgd APETYR fF?

q) FT= A FIR A4 fSA6 MOH Brayd FA|

) NI F BRI NN O Sl A6 Y0 SRR I f&y|
5) g afEaR #Afefo wFgeye *mes=y 7y

y0) ISR A6 (NfeTs BN &4 |

3Y) AT FRFIAT T4 |

v2) ICTRGTOFICNF B &7 4|

ENIRIEICIR!

y9) GAPP &2

Y8) 2T YXAMGF 8 SNTS *MFRIW ALAYN TOIH WL Ao BT (T I2M0 A3
FE O VN AP IZF & (FT4H VW 7]



3¢) VAR TSNS AT 0,000 BIFI AP (O BL@E FAN X | WPINP NNH
8,800 BII, (5 VHEFS ¢ YOOI AN FAT XTI 8 ITGT A8 (51 200 BIFT| fox 1
N RS (FANAANIG [T FK

) BRONGS 12 M Mo TFe A T (F?

Q) FIILF AV Y0o,000 BIRPT; AEEF YL $,00,000 BIFT; AT H0,000 BIFI; (0 AN
3&,000 BTN BIHL® O J(O FAR ANFIT AR B WG TG AN [l
Gl

Sb) T STIMCATNE G (I (I AREfOr0 WfAoe R 75979 Fh00 =72

) IHID AT ARSI 2/50. /90 S 0,000 BIHFT JCATA AN TF B H¢&,000
BIFT Y A (PO (M T ]S I LR GBI I STNCIS N0 A4
FA1 2T | BIFIE W(F IO AT F9?

20) WIAF ARSTINCN BIAMG WFgyf (IFTEy 62
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A,

I
i

43

44

45, The CArrCaRin 't for a1’ 8 4y

| ) B () fefi qmwﬁn
- “feapagn Frvilre v comd? (3, e (18) 7901 () Fa () ¥
ﬁmm-w ARG %7 (A) 1 ST SRUICR | () e i () o S5 e (03 2 A e
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/L o :

e (R o)

succeed in lile, Choose the nght option 1o complete the senlence! (A) Hard work (B) Those wha hardly work (@ @
Working hard (12} 1hose who work hard

A decade is peniod of (A) five years (25 tén vears (C) twelve vears (D) iwen. v i

A diglogue 1s a discourse betweed people. The night number 15 L3 two (B) three (C) four (D) mane

(A) & Cardiologst (B9 an opticiar |
An intrapersonal conflict is o conflict (A) between tw
group (% wathin an individual

i 5.}1{'.. :_:hh,! ifi ""‘." ¢ CUSCURCS 15 -,.|:!-_'||. i E'||.".|.'|.l'l.'l.'l',.'.|'lr| I.""H il ni1]1','!1;1|11||-",13:.[1'-;!

o individuals (B) between two grotps (C) between two individualsofa

He reached home The clause in the gap is: (A) after L loft (B) afier | was lett &) after Ihad left (D) after Thave le
He said 1o me,  Where were you staying when you were in Diiaka?" The correct indireet speech 1

118 (A) He asked me whes L.J
wie stavias whion | was in Dhiaky, (33 Hié asked me where Lhud beon staying when i was 11 Dhaka. (@) He osked mé where | had
beér 5'.ln|.1-lF when 1 hid been fn Dhitka. (D) He nsked me where I stayed when I was in Dhaka
If vou lenl me some money, Use in clause to complete the sentence; (A) | was grateful to you (13) | shall be graeful 1o
you (7" woul 1) be gratefiul to you (D) 1 were grteful to you

L-“'UE hefore vou leap, Here "look’ {5 (A) a subordinate clause (B) not o clause (C) the 1 priveipal clause (2) o verb elas

May you live long. Here “long 18 alam (/1) adieotive (B) noun (C) determiner (D) sdverh
9 1
\15' hrother enjoys COmpuler games Lhe m SN expression 15 { '-,|| |.| I|5'| to pl 1|‘ | Staving (D) being |.'I.,_-,'. ¥
Ton years have passed since hus father died, Make it » mp (A) His father has died e voars ago. (BY H A Rzal., v
.‘ b - L ' LAY iy B
yoars (C5) His father has dicd for len years, (0 1is father died 1o

l:l'-:'lli"'- .',k'!ﬂ'

i5: (A) Sk Corst wirs 0o Bt o1 () i ey e
T | SETE F

(D) ght smire =iry 26 181 cvrafimn

The English trasslation of “f a¥iz o7 o o wngy”

here KaeE {50 Wao a1e you awniting here? (1) Who are wal

The Hanils sranalation of ~ Yoi awe me 50 mkiy *

nrEd W raul
anere oo 5o o Bifiee b VG R -2

18; %) For whom youare watting here? (B) Who are you awniting
"'li- 107 you here?

0OYMous with: (Al

1
M0 spade a spade (B) @ stiteh in time save (ol befort i)
Hrl H'l:"fju rnp e k L1 || bl .-II,[ s VES HTINE |||. .ll‘”-“ 1#[“”

1 AT DU PIR AL ey
(3) 3t 2anaa e (g) 25w 90U 1Y) A §1 25T POUTAafn 3|




" PDF Collectlon

- “4 pdf.bdniyog.com
' CLICKHERE

NP g4 SfSan
one fef&b S

fSfSfacms.ox

www.bdniyog.com



https://www.bdniyog.com/pdf

| adverbial clause (D) prncipal clause
mmdlm ot nflr[};m'.h:r. The right PE‘II‘I!.!H: is: (A) ot the beck and call (B) at the Jength (€)4t her wat's end (D)t the back and front
- The passive voice ol h-ltha i5: (A) Let you be mended your ways. (B) Your ways should be mended. (C) Your
ey |

The girl MM@M j‘a mmm mriinrd clause is a/an: l\ixylllﬂt (B) lll]mh'whun(ﬁ

wiys are mended by you our ways are mended.
. The Shatgambuj mosque 1§ an Isjaiic adifice. The word 'edifice means: (A) a large monument (B) a beautiful heritage (C) &

large impressive building big religious symbol g/
1

| The word ‘lunar’ is connected with: (A) carth (B) planct (C) modness

. They reached home gife and sound. This is wan; (A) adjective phrse Qﬂhiul ohrase (C) proverb (D) idiom -

), Thiskind of ___ treatment of sans and daughters has a long term effect on daughters. The missing word is: (A) discrintnation
(B) discriminate §EAscriminatory (D) discriminatorily

3. We enjoved swimming in the m'-:r.Ilcr::'s.winnmmg+ 18 1'un;mn:rb{lh:'m'mnw.'c[(j};!r:tc fines nd

54, Wewill go home soon, ___ The nght 1ag :puu:mnu.h\lu-il] we? (B) wouldn't we? won'twe? (D) isn'tit?

ﬁﬁ’- What does ‘regicide’ mean? faafllling someané of 4 royd fazrulyiﬁlﬂmﬂut'}illmgnki mqmcn{f:hhlmﬂngnkiﬂghnm}m

ViSIt ofuyran.com

killing .
Sfr. What is the adjective form of “Seracy T (A) literate wﬁmm (C) liveraty (D) educate
9 (A) Twenity miles are o long distance.

£7. Which of the following sentences 1§ COMTec
Twenty miles 8 100 distance.

Twenty miles are very distant ()
-:wﬁmrmnu (1) adolessence (
rd 1o higlp you, (B) | am looking

685 Which one fs the right spelling!
with puppets (C) sells puppets (}H{nmcs with puppets

wenty miles 15 2 long distance. (€)

('} adolesence (D) adolescance
frward to your belp. (C) 1 am looking

59 Which sentence 18 imum:ﬁ' m-.i;mg {g;qg-;E
forward 1o helping you. (1)) L am Jooking after my kids

60, Who is a puppetee? One Who: (A) makes puppets () performs
- Visit: of g e
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i Whh:lh piurnl word can be ueed na singular?
LTS Y hooks = h

: I princes W) universitie:
B."Duchess” s the femimine of-

*) durch 9 diitch M dutehiman ¥) dike

n _' . 5
She came from a hnmbls, upprivikeged background. The

trmidas . P i
mi;:‘::?j,»md meanz- %) a high social position

: social position ) very gencrous W) rustic
e Fill in the gap: Two-thirds of the work
W havE been ¥) were o) has been %) had
L. Fill in the gap: Climiate is a - of the envir Ofment

) situation ) rank ) quality %) glabe™
. Il bool:chapter, then.

¥) building:story %) tree:noot
Lo

) sentence:verh ®meviriEenario
IF dignify:humiliate, then- ®) refuse:retinue fuse:join
) praiseceriticize mpathize:improve
e, Verb of the word ‘new’ jx.

) renew %) anev 1) newness ¥) newly
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2u. Antonym of the word “tabloid® is- ) little magazine
#) paperback *0-Broadsheet ¥) paparazzi

39. Antonym of the word ‘migrant’ is-

¥) expatriate ¥) gypsy ) nomad ve

e o e o 2 o

-bra '_'ﬂ'ﬂnmqmﬁﬁﬁff-

A,

3, Synonym of the word ‘counsel’ is- ofiran.cor!’

) cabinet %).advice ) trade ¥) meeting

ofuran.com
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2. Change the ipeach: 1 osaid & i i J__-'l"-
¥ 1 said him pood IETIINE ‘_:__,..,-r'_"- (& P TR
\ T b
morming ") 1 askied him good moming oy 1 said

EOOd mioimiang

o W ?IT N W, WETTEL "l,li"_.'. T W T
AT TV \uﬁ:’nﬂr ") woe /f:
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TFE o) B W) i w) wie e

‘g, HINTETE 1 (BT VI.‘S’!I.

) G vyl ) w4 V)
So. P TF W W) Wl ) wgE ) {;\:{:ﬁﬂ.ﬂﬂm
8. - Foa= wep our sty wier

W) ) i ) e 9 e et

=

Read the following passage and choose the appropriate
answers for the questions 46-810;
Taking benefits of globalization, capitalism seams 10 be on
a dominamt march. Globalization, more interdependence
among nations, already helped pull many developing
countries out of extreme poverty, providing betier access to
international markets as well as technology that enabled
vast increases in  productivity. However, it benefited
developed and developing countries disproportionately. In
fact, it triggered the huge differences in incomes and
standards of living that separated the rich countrics of the
world from the poor. Unlike these problems of
globalization, global environmental problems have affected
both groups of countries alike. Unless we lessen
environmental damage and attempt 1o slow global warming.
disaster lies ahead. e
8%, What is the proper meaning of globalization:
¥) rise of capitalism %) to technology ¥} mccess
to world market Wing interactions afmiong counirics
89, How are developed and developing countries affected
by globalization? ;
gnificantly €) unequally ) greatly ¥) evenly .
“The mr in the : 1= ""‘:f prosar W
i ies W) bad condition
%) developed countries :
w, The word ‘slow’ i the | tence 15-
= %) a noun ) a verb M) sl adjective ¥) an adverb



@9, What does “it" in the fourth mntrnﬂ:“lflﬁlit: Dfunaﬂfﬁmuw:

T : IR W it f »
) productivity. ) capitallsm *) poverty W globalizarion ) 2t pe =l s T

48 2-‘-"3}""5 ; ﬁlj{-ﬂ’r- - . ! 1] :-'F' i Wi T
S s _ vm=mmse yvisit; ofuran.com
B3 203 WOH. TR cow Reedirt oo e sy ) e e e a-:v::{f.ﬁ.: o
“mt]mﬂ‘}m‘}m G T e I-l-.| T o finre: e s
e, ey ot G “r s s woxy an "j't-ri':'l:’i"‘-:!,rl-:;-- o o) T ey oo v
W) 3eEY W) ywDE W) Smbl ] : ; T W] " et
are W e o) T WS W 8
&5, :m; s ﬁ.lr?ﬂ e ol py iy e T
o bihnd o W) o cenen ) Fiome sR wy Ty o) sk Wy 0 W
: =EEy O CRTR e ey by, weftafew Al aoa TN WRTCCR B e
) WS ) F¥B TS w) woGh T T
e, "MASA OT e wEE ceTTn ETRE ) Sisoo W) Yised M) 3ol W) Yhob
.I w0y et Fif ) cenl ) W, s st Gl Ty W) TR W) W v e )
- 22 i ) P ) FEteS s, T CTR M T, W TS 10
. _I WW- -t. W) s T o) ST et o) wrdE war
=) Ffr ) Fomp m ) ST ISIL. A e
atr. " Fgfr mm R caeT : : :
ﬂ'ﬁﬂ v, WS i 0 R e =TETE WU
=) pign o) FeT W) e fum" ¥/ e W
ok Tm‘m” SEICAA (A AP com i, TRty sew Tewe el o T WAy
= CORT ¥) NI 1) e ¥ o) crwemTsTE ) i ) v f
. EI{ﬁH:HH T WA e Faten e
! ¥) T ) COE W) A b, Ay O ARSI et SEER AT wReT s €
3. 1'h13ugh he was very rich, he Wil very unhappy® is a- ) am afEm o) 8 o AanT g W) aE ofem
*) simple zentence X SEntEnce Yo T EOETE TR T e SAEcE oF ierE =hr v
Ty f:_-r:n_mp-::nund senlence W) conditional sentence £ e 1) wEEEE ) e i
&, Krilrf.g_rhc bird, the old man brought bad luck to the el vl By v 0ol R wie:
crew rﬁm sentenice W) compound ) il ) TR W) (AERTST W) W T
sentence i Senlence W) none of them wn, cafmam @y ow) feoard cdfrs wel ¥ e affrs =l
2, Which one is a compound sentence? o) wfer o W) e T
#) Secing the police the thief ran away ¥ Thethi@fEhw »o. ST is the abbreviation nl’vfs T i
- o - - Itl -
'rhz_pﬂh-cr: while he rM:n the thief gaw the ¥} Serally Transmitted 1|11mun1'{alEerEﬁ1ED
police, he ran away O T ief saw thepalice and ran Transformed. Infection W) Serially  Transferred
iy : : Immunization W) Sexually Transmitied infection
w8, What the superlative degree @of the word ‘evil’? ». ‘T sferT Tk wife an Bl
orst %) most evil ) bad | ¥) ngie) %) The more you read, the more you know %) The more
¢, The idiom ‘swan song’ meanss Nou IW Maore you read, more you
=) early walk ®) harsh song ) ?ﬁ'wark eam fre you read, the more you will leamn
w) melodious song o3 , G Amwws gyt <7 TuEfee ¥ The train is running
wi. Find the incorrect part: -ﬁjﬂmuh both of them{¥) within time ) The train 15 runn| ¥ time 71) The train
trying 1o gei(*) the schielarship, she has the highest(¥) 15 FUNAINE On time i is rup@ing in time -
chance. A w3, Chooze the W
%%, Find the inmrrtﬁ_ﬁii"t: The(¥Fpmajor source() of air(*) *) hypocrisy $hdil ) milenium %) rubagh
pollution vary from city. »8, Choose the W
wer. Find the appropriate queﬂhWtﬁ - ) agurium teur ) assurence ¥) alignement
=) am 12 %) amn’t 12 %) isit? 17 »¢. Find the WWWM start — a dramatic cry.
5. A phlegmatic person is someone who- =) with %) by ith =) through
=) remains calm and does not get excited eastly wi Find the correct pmpnsili‘u,n;w —stick —it.
%) helps people ) quarrels with everybady ) to, to ¥) to, at ) at, 1o ~Tor
not believes %9, Choose the correct form of verh: He — to Chicago just a
%0, An ado 15 someone who is- few months-igo.
of agé between 13-18 years %) of age between 9- 18 h oved %) moved #) wuu1d.mm~=‘l‘:1l'ms moved
years ) pmpurh?g for adulthood ¥) vulperable to Wb Flll.d the E'T,;ﬂ form of ?‘rih: W ; - n‘ha::fdny s::.:'. thee
malnutrition and discase beginming of the year, ¥) GL3 ROL WAVE ) i oY
Q3. CET AP v e o) AR W) TR ve not had Il}mnmh:vmg
@, wﬁmﬁfﬂlﬂﬂﬂﬁ »». Which sentence is wrong?
®) o bewdh o =i ) WM = #) The weather is very cold tonight %) Afier a.mnnﬂ::, he
1) 2wl A ot e A profmafen  answered my letier %) James lives at 40, Beach Road
ﬂ-ﬁ#hmﬂrmmw-immn t}ﬂu@*dmu@thuhu{ﬂmz ;
Mﬂ#ﬂ;ﬂiﬂjw son, Which one is a complex m wat‘ﬂ_
s ! the water was

being very hot, | couldn't drink . .
mjrhanlmiildn‘lminnn;ﬂ:ingm.hm couldn't
My:éhnhﬂﬂeﬂuunfhi!phm“mmh:mth:
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Read the following passage and choose the apprupriutu 39, "B s o o N weliw o 6 rdu @

answers for the questions 1-5: ) S did notat al fe! ke go
: . tke gai
Ni"“'ﬂl]ﬂ!i&. dﬂ’l.'h'npl’ltr.'nt is ::ﬂnsil.lun:d s ipansfoming Lhg unwilling 10 go Lo sehool M:ﬁ:i :5:!1 ::e:::':

lives ' : . i (1
LA X Comprelensive Process hat VIV i soelng s corect
every aspect of society, engaging the efforts of 1007 pitlars facinat s
Yy SEagIng : %) facination ¥) bourgeoisie ¥) bouguete ¥hinaginery
market, E““-‘ﬁ)ﬁl@.l ndividual, and community. (V. S S | tuete ¥hiagineny
develais oo ol ot e o Which one is misspelled?
evelopment of any country is 1o be gustainoble,  UIE E i b,
government "ﬂf s allocate considerable amount of funds ?likﬂlit‘hthﬂﬁiﬂﬂ lieutenant ¥) caterpillar %) restaurant
for aducation \U !ﬁth \ Toleids aretur just y0. Find thlr:umruul preposition: We opted - a reconciliaion
a5 vesImERTn machinery, However, therdlef education: =2 the dispute. ¥4 for, of %) f; for %) 1o, for %) for, 1o
is even more. It also acts as an engine o improve human 33, Find the correct preposition: He was walking ~ the field
capability that has affirmative nfluenee on ndividuals’ — the forest. Y, by ¥) along, by ¥) aeross, in') over, in
“wellbeing, — el 33, What is the verb of l'I"l'i?m&I ‘error?
s, [n the passige, ‘compreliénsive devejopment’ rfers 1 ¢ emand 9)errail Pt Syemic
#) chunging people’™ lives o/ increasing CConomis -QE’)“*’ form of the noun “conversalion 1
el Ena RN Aonverse €) convalve ) converge ™) conve
srowth %) allocating more funds for educat I volve ) comverge T) ST
; : : e e and economic 8. Choose thorcorrect sentence; ) Eeryone imds doi
machinery ¥ improving peoples lives, ant eConomics M)M ST
> duty Svenvone must do one's l!‘.il}' W) Evervone mu

3. Ahe word ‘yiehd” is relevant Lo- ‘ _ y
/jll :Trz;i:mm: I:;l:h ire ¥) debenture do everyone’s duty ¥) Everyone must dohis duty
b LA £ SHAre 4 i
hich fi - . offi Choose the correct senlence:
s, Which factor plays the most Imporiant role i araining 70 S e goodmood ) deisingood o

suptainable developmen! qermood ¥ He lsin gooll
) ) markel ) COmMMIL)

ol lll'l‘i

W Heism e

s ) :ir ‘Plagiarism’ meanss
8. The word allimative A ' ;-.qwingunlam!'ullytauur-ymg {awlully
i ql;“" |'|- 1) 1_*[..”:-.”|| s A 7151 -,1P.'-!'|.|'|'l|];|] i 'I'|':| “rm"u “m"gﬂ"ngi V) 'u"llﬂl.m__!l-'- ]"I,Shl. '.hlﬂgﬂ

¢, The main idea of this passege i U/ ya The word ‘dilly-dally” meass
four pillars of . T ; | M{im:'ﬂrtpﬂ

®) education and developmEt "ﬂdﬂuhﬁth:iIll'nnl'lnHEnl:"

developasent *) _indiv [bejng ) nvestment I

idual well
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e ngsnencesisadverd? % Il subirsugurcane

! m kb p by he oon ) The iy SRS ireyond 3
 will com 'rﬁ T]'{ﬂ,}'"li"ﬁ‘ﬁﬂllin the mountains ¥) \We #. Iinitisteend, thep ) fic:crop ) i
ypsand downs of forune CY T i
s Active form of The tree has been uprooted” is- ' temainretrent ¥ nferimply
) A storm h upmoltd the tree ®) The tree had been 9. The notin nfihem*,“:v:
¥ assurance ) enjure ) ety ) s

uprooted 1) The tree wis uprovted ¥) The tree had
uprooted | &t Complete the sentence:

o Passive form of ‘Call ina nu rse’ 15 A student can make & good reqlt*
#) Call a nurse ip ) Get a nurse becilled ) Lehe ) When b has 5'lﬁdil:dllim-&i}wh;“h e
callodamurse V) Letanurse be called ) when he would study hard ‘:whm hﬂ 4y

. Change the narration, She said, M fscoolinwinters. % TS0 a boy who Waspoor' s Bl
) She said that it was cool I winter %) She said that it %) simple seutence %) compound serlence
is cool in winter %) She said that it had been coalin 1) complex sentence ¥) none of them
winter ¥) She said that it has been coal in winter o, Which one is a iegative infermogalive se

 Change the speech, Nafisa said, “I must writea letter”. %) Had they not work? 5] Do they not okl
%) Nafisa said that she must Wrolc.3 ter ) Nafisasgid "¢ work? %) Could be ot worked?
that she must write @ letter 7 Nafisa said that sh o, Which one s comet E
would wrte & Jeter %) Nafisa said that she might dibs U ERE he gets, e e wanis €18
e more he wants. ) More e gets, (heige

oo g e 7 D & g T:ﬂ ore ho gt. e more e

RT— L 50, ‘Bird’s eye view' medns:
sqsunt %) The story 15 €0 cursory gnce 0 a folse 5

%) Reading of the story = 1!
eading he siory 15 pieast pid , ,
pleasant for reading %) The story 15 pleasant 10 [ed qunwthingﬁ:nﬁu&l}'.‘] e ﬂliﬂ‘-““f

¥) The story is pleasant [0 b< read
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#3. Find the incorreet part;
I drivens(®) obeyed the gpeed limii(®) fower( 1
aceidents occun(),

ﬁ‘ Find the ncorrect part;

33, canll gl wfar

o ol oo oy ﬁ:ﬂ

-rﬁ:'rnﬂmmﬂ}hmmulﬁ;:? H?‘
\ure

Lot
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